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1km? = 100 ha = 10000 a = 1000000 m?
(1) 29 km? = 2900 ha = 290000 a = 29000000 m?
(2) 34000000 m? = 340000 a = 3400 ha = 34 km?
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(1) 1698a = 169800m?
(2) 126m? = 1.26a

(3) 1080m? = 10.8a
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= 280 x 150 = 42000( m?) = 420a = 4.2ha




@ 330a = 3.3ha
® 540000 m? = 54 ha

® 1.7km2 = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?2
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@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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D 13ha = 1300a

® 5.6 km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?




® 0.21ha @ 3000 cm x 45m

® 5800a @ 1.43km?2

(@)1.41 km?

~&B

T 22 9= 1A v gy
D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
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@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm
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@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
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@ 3t =3000kg
@ 2t = 2000000 g

® 0.65t = 650kg

@9000t =9kg
@ 0.6kg=600g

@ 9000t = 9000000 kg
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300g —» Qkg

58t =Qkg=®g
4600g = 4.6kg = Ot

@ 90000 @ 0.03 @ 58000

@ 58000000 ($)0.0046

1kg=1000g , 1t =1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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(24 x 21 +2) 4 (5% 10 + 2) + (12 x 10)
= 252 + 25 + 120 = 397(m?)
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3.4t = 3400 kg
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(B A3 AAF £): 3400 + 17 = 200(AAH)
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25 x 140 = 3500(kg) = 3.5(t) YUt}
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@x160 = 56000

@= 56000 + 160 = 350( m)




o uw .
Y
ay .
R
W
N o
=
Jl %
aw
— ™ O._ .
I
@ B
o L_L 1jo m_
.= TIF
T OX R —~ 3
P = ~ g <
B o o = 5
G - o i ™ R o
T oo H a F g g 7 l%
n ~n o = = = )
jurt ~ 1:.._ m junt mu\ T on | < N m
o o 2 oy 9 X + 2
- T B T
10 or . o mu x My |
gy s unouf N o NS n &
‘V iy Io _— — _Il_ ~ — s
5 duo_LVD = 2 I
TR i<t <P

24.



F2toll 15 kg €1 A2F 250 7S A

= 3 A o
Ut} o] EFe]| 5ke A AAFE o Aok, 2 A ¢ =
A=A T2 e ==
> = A

> " 5070




